Q.1: Which of the following elements will be 6th to the left of the
13 from right end in the alphabetical series?

FUTHTAT sgarEer o, feaferRa e # o i1 91 2™ 3R A 139 & 9]
T 6 T BT 2




46 :5:: 357:7




Q.3: In a row of 44 girls, Sweta is 17th from left end. Palak is 7th to the right
of Sweta. What is Palak's position from the right end of the row?

44 TTETRaT <hT Uk Utk o, TAAT T LT a8 BR A 1741 8| UeTeh, TAT & &1 74
TATT T AT T AT TATST hl UeAeh ol TAT IR SR U Tehaar 22




Q.4: In morning Shadow of K is towards his right then find out in which direction

is he facing now?

T gaIg K hl WSTs 38 31 W foarg S @ oft at Jargu <kt ag forw foorr 4
I @TE?

(A) 31T/ North

(B) <f&I0T/ South
(C) ITTH/ West
(D) 3T 3T @/Data

inadequate







Statements -
Some wall are blue. &3 far it ¥

No ground is blue. ~ @ig s et 72 8
Some ground are white. %% WHiF g 2

Conclusions:
(1) All eraser can be pencil / T 3¥X 9f@e &

qhA §
(1) All pencil can be eraser / T3t @< S'IFIT gl

T &




Q.7: What will come in a place of question mark? Tsram=res =g &
TATT U T ATEIT?

61, 128, ?2




Q.8: By looking in a WATER, it appears that it is 9:55 in the clock ;
what is the real time?

STl A <@ ¥ I Udid gYdr ¢ 7 a9l 7 9:55 9o §| IFdfds
AT FAT &2




Q.9: OPPOSITE OF3??




Q.10: The position of how many alphabets will remain unchanged
if each of the alphabets in the word ARGENTINA is arranged
in the alphabetical order from right to left?

e 9168 ARGENTINA H €& § 919 Uedeh 318X ohl JUTHTAT ShH |
gateud forar STar 2, ot ferar erert 6 Rufa Temaa wf?




Q.11: Statement : (I) All pen are pencil/'\q'ﬁﬁ FTH YA &

(11) No pen is eraser / 1S FAH (T Agl &

Conclusions:

(1) All eraser can be pencil / T (X 9f@e &
Hohd ¢
(11) All pencil can be eraser / 3t 4R (AT &Y
AT ¢




Q.12 What will come in a place of question mark? ggraT=iss iFg &

T U ST SATTIT?
12, 12, 18, 45, 180, ?

(A)1090
(B)1180

(C)1170
(D)700




Q.13 What will come in a place of question mark? Tgramae: g
T O ST ATET?
170, 90, 100, 165, 350 , ?




Q.14.

A clock is started at 1PM . By 20 minutes past 1 , the Minute

hand has turned through by what angle?
Teh WISt SIUEL H 1 oo TR BIdT 8 T 1 sIoTent 20 e W e A1 g

TeRaT SRIUT TIET TehT BRIT 2

(A) 80°
(B) 10°
(C) 120°
(D) 15°




Q.15. SQUARES

e




